Kansas Corporation Commission Oil & Gas Conservation Division

ORIGINAL

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 33486	API No. 15 - 039-21031-0000
Name: Dark Horse Oil Company, LLC	County: Decatur
Address: _34861 Forest Park Drive	NW -NW - SW - SE Sec. 11 Twp5- S. R30- ☐ East 🗸 West
City/State/Zip: Elizabeth, CO 80107-7879	1239 feet from S / N (circle one) Line of Section
Purchaser: NA	2578feet from (E)/ W (circle one) Line of Section
Operator Contact Person: Douglas C. Frickey	Footages Calculated from Nearest Outside Section Corner:
Phone: (303) 646-5156	(circle one) NE (SE) NW SW
Contractor: Name: WW Drilling, LLC. DEC 2 6 2007	Lease Name: Sauvage Well #: 1-11
License: 33575	Field Name: NA
Wellsite Geologist: Paul M. Gunzelman KCC WICHIT	Producing Formation: NA
Designate Type of Completion:	Elevation: Ground: 2881 Kelly Bushing: 2886
New Well Re-Entry Workover	Total Depth: 4251 Plug Back Total Depth:
Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 284 ft. with 175 sks. Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tosx cmt.
Well Name:	feet depth to
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 24,000 ppm Fluid volume 400 bbls
Plug BackPlug Back Total Depth	Dewatering method used Evaporation/Backfill
Commingled Docket No	Dewatering method used
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
N	Lease Name: License No.:
November 01, 2007 November 08, 2007 November 09, 2007 Spud Date or Date Reached TD Completion Date or Recompletion Date	Quarter Sec Twp S. R East West
,	County: Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas 67202, within 120 days of the spud date, recompletion, workover Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs a TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. months if requested in writing and submitted with the form (see rule 82-3- nd geologist well report shall be attached with this form. ALL CEMENTING
All requirements of the statutes, rules and regulations promulgated to regulate the herein are complete and correct to the best of my knowledge.	e the oil and gas industry have been fully complied with and the statements
Signature:	KCC Office Use ONLY
Title: President Date: Dec. 21, 2007	Letter of Confidentiality Received
Subscribed and sworn to before me this 215t day of	If Denied, Yes Date:
Subscribed and sworn to before me this SISP day of DECENTION 120 07	Wireline Log Received Geologist Report Received
Notary Public: BQ m 2 11 11 11 11 11 11 11 11 11 11 11 11 1	UIC Distribution
Date Commission Expires: 1/24/2011	アンでも

Operator Name: Dark	Tiorse Oil Compa	ily, LLC		Leas	e Name:	sauvage		Well #: 1-1	1	
Sec Twp5-	S. R -30-	_	t 🗹 West	Coun	ty: Decat	ur			***	
INSTRUCTIONS: Shot tested, time tool open temperature, fluid reconstruction Electric Wireline Logs	and closed, flowing wery, and flow rate	g and shu es if gas to	t-in pressures, surface test, a	whether :	shut-in pre	ssure reached	static level, hydr	rostatic pressui	es, bottom	n hole
Drill Stem Tests Taken (Attach Additional S		⊘ Y	∕es		 ₹L	og Format	ion (Top), Depth	and Datum	_s	ample
Samples Sent to Geole	ogical Survey	⊘ Y	es No		Name Stone Corral			Top 2627	·	
Cores Taken					/Anhydrite		2662			
Electric Log Run (Submit Copy)		⊘ Y	es No		Торе	ka		3749		63
List All E. Logs Run:						ner Shale		3920		034
Duel Componer	And Danask I	0			Toro			3952		066
Dual Compensa Log, Microresisti				1	Lans	•		3969		083
Sonic Log and V				•		/Kansas City		4178		292
						Depth		4251	-13	365
		Repo	CASING ort all strings set-c	RECORD conductor, s			tion, etc.			
Purpose of String	Size Hole Drilled	Siz	ze Casing t (In O.D.)	We	eight s./Ft.	Setting Depth	Type of Cement	# Sacks Used		nd Percent ditives
SURFACE	12-1/4"	8-5/8"		23 lb.		284 ft.	Common	175 sks.	3% cc -	
	1	1	ADDITIONAL	CEMENT	ING / SQL	JEEZE RECORI	_L	l		
Purpose:	Depth Top Bottom	Type of Cement		#Sack	s Used		Type and	Percent Additives	3	
Plug Off Zone					-	<u></u> ;				
	PERFORAT	ION RECOR	RD - Bridge Plug	s Set/Type	.	Acid Fra	cture, Shot, Cemer	at Sauceze Beco	rd .	
Shots Per Foot			Each Interval Per			(Amount and Kind of Material Used)				Depth
							2 6 2007			
		THE STATE OF THE S			·					-
						KCC 1	NICHITA			
										
TUBING RECORD	Size	Set At		Packer	Δ+	Liner Run				<u> </u>
	-	-		. donor	, u	Cinoi Viaii	Yes No	o		
Date of First, Resumerd F	Production, SWD or I	Enhr.	Producing Met	nod	Flowing	y Pumpi	ng Gas L	ift [] Oth	er (Explain)	
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wate	er E	lbis.	Gas-Oil Ratio		Gravity
Disposition of Gas	METHOD OF (COMPLETIC) DN	1		Production Inte	val			
Vented Sold	Used on Lease		Open Hole Other (Speci	Per	rf. 🗀 C	ually Comp.	Commingled _			

24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

(785) 483-3887 (785) 483-5566



INVOICE

Invoice Number: 111019

Invoice Date: Nov 7, 2007

Page:

1

Bill To:

Voice:

Fax:

Dark Horse Oil Company LLC 34861 Forest Park Drive Elizabeth, CO 80107 Federal Tax I.D.#

_ _ . _ _ _ _ _ _

Customer ID	Well Name# or Customer P.	Payment	Terms			
Dark	Savage #1-11	Savage #1-11		Net 30 Days		
Sales Rep ID	Camp Location	24-35-34	Service Date	Due Date		
	Oakley		Nov 7, 2007	12/7/07		

Quantity	Item	Description	Unit Price	Amount
175.00	MAT	Common Class A	12.60	2,205.00
3.00	MAT	Gel	16.65	49.95
6.00	MAT	Chloride	46.60	279.60
184.00	l .	Handling	1.90	349.60
45.00	SER	Mileage 184 sx @.09 per sk per mi	16.56	745.20
1.00	SER	Surface	815.00	815.00
45.00		Mileage Pump Truck	6.00	270.00
			CEIVED 2 6 2007	
	·	KCC	WICHITA	
ALL 50/050 A		Subtotal		4 714 35

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 471.43

ONLY IF PAID ON OR BEFORE

Dec 7, 2007

Subtotal 4,714.35
Sales Tax 159.68
Total Invoice Amount 4,874.03
Payment/Credit Applied
TOTAL 4,874.03

- \$ 471.43

\$ 4.402.60

ALLIED CEMENTING CO., INC. 31763 Federal Tax I.D. 31763

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665		SERV	ICE POINT:Oct	leley	
DATE 11-1-07 SEC. TWP 5 RANGE 30 CA	ALLED OUT	ONLOCATION	JOB START	JOB FINISH PA	
	n 36E-	6N-6F	Decetor	STATE	
OLD OR NEW Circle one)		n, 5,			
	OWNER	Samo			
TYPE OF JOB SIC Foco					
HOLE SIZE 12/4 T.D. 285'	CEMENT	DERED	د <i>و جاء</i> ہے	4	
CASING SIZE 85% DEPTH 284		DERED			
TUBING SIZE DEPTH		100-200	e—		
DRILL PIPE DEPTH TOOL DEPTH					
PRES. MAX MINIMUM	COMMON	175 sk	_@_ <u>1260</u>	2,20500	•
MEAS LINE SHOE JOINT	POZMIX		@		
CEMENT LEFT IN CSG. 15	GEL	<u>3 5ks</u>	@ 16.65	4973	
PERFS.	CHLORIDE _		_@ <u>_46.6</u> 0		
DISPLACEMENT 17-BB1	ASC				
EQUIPMENT			@		
			_@		
PUMPTRUCK CEMENTER					
# 431 HELPER LAME			@		
BULK TRUCK # 379 DRIVER Alvia					
# 377 DRIVER Alvia			_@		
# DRIVER	HANDI INC	184 SKS	-@ 	34960	
<i>n</i>	HANDLING_ MILEAGE	77.5	_ = _/	745 20	
REMARKS:			TOTAL	3629.35	
		SERV	ICE		
Comput Die Civic	DEPTH OF JO	ОВ	2841	•	
	PUMP TRUC	K CHARGE		815	
	EXTRA FOO		-@- /00	707500	
		45-mas		270=	
Ihank You	MANIFOLD.		@ @		
					DEOR!
1516					RECEIVED
CHARGE TO: Great Plains Enersy			TOTA	1,08500	
STREET			10111		DEC 26 2007
CITYSTATEZIP		PLUG & FLOA	T EQUIPME	NT	KCC WICHITA
			(a)		
The Alliest Commenting Co. The					
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment			@		
and furnish cementer and helper to assist owner or			@		
contractor to do work as is listed. The above work was					
done to satisfaction and supervision of owner agent or			TOTA	L	
contractor. I have read & understand the "TERMS AND					
CONDITIONS" listed on the reverse side.	TAX				
	TOTAL CHA	RGE			
	DISCOUNT		IF PA	AID IN 30 DAYS	
\ A \ A \	DISCOUNT.		- 11		
SIGNATURE King Strutt		DD XX W	TED MARK		
/		PRIN	TED NAME		

24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice: (785) 483-3887 Fax: (785) 483-5566 P12/4/07D

INVOICE

Invoice Number: 111163

Invoice Date: Nov 12, 2007

Page: 1

Federal Tax I.D.(

Bill To:

Dark Horse Oil Company LLC 34861 Forest Park Drive Elizabeth, CO 80107

Customer ID	Well Name# or Customer P.O.	Payment Terms Not 30 Days		
Dark	Sauvage #1-11			
Sales Rep ID	Camp Location	Service Date	Due Date	
	Oakley	Nov 12, 2007	12/12/07	

Quantity	Item	Description	Unit Price	Amount
60.00		Common Class A	12.60	756.00
40.00		Pozmix	6.40	256.00
	MAT	Gel	16.65	66.60
25.00		Flo Seal	2.00	50.00
105.00		Handling	1.90	199.50
45.00		Mileage 105 sx @.09 per sk per mi	9.45	425.25
	SER	Plug to Abandon	815.00	815.00
45.00		Mileage Pump Truck	6.00	270.00
	EQP	Dry Hole Plug	35.00	35.00
,		RECEIVE	þ	
		DEC 2 6 2	007	
		KCC WICH	ITA	
			·	
	RENET PAYA	BIF Subtotal	1	2,873.3

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 287.33

ONLY IF PAID ON OR BEFORE

Dec 12, 2007

 Subtotal
 2,873.35

 Sales Tax
 181.02

 Total Invoice Amount
 3,054.37

 Payment/Credit Applied
 3,054.37

-\$ <u>287.33</u>

ALLIED CEMENTING CO., INC.

28833

			regeral	Tax I.D.,			
REMIT TO P.O.					SER'	VICE POINT:	-14
RUS	SELL, KA	NSAS 676	65			DAKI	εγ
//-9-07 DATE	SEC.//	TWP.	RANGE 30W	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
SAUVA6E		1.11		1den 3/2W-8N	-1/2-1-101 55	COUNTY	STATE
LEASE	WELL#	1-11	LOCATION SE	10810 31200 810	1200 10 20	December 1	
OLD OR NEW (C	Circle one)						
CONTRACTOR	MINN	DRLLA	RE15# 4	OWNER	SAME		
TYPE OF JOB	OTA	204268	<u> </u>	OWNER			
HOLE SIZE	7/6	T.D	4250	CEMENT			
CASING SIZE			РТН	AMOUNT OF	RDERĘD		
TUBING SIZE			PTH	100 SKS	60/40 POZ	49668/2	4 Flo-SEA!
DRILL PIPE	4/2"	DE	PTH /\$25				
TOOL		DE	РТН		فنماف	60	دمين .
PRES. MAX		MI	NIMUM	COMMON_	60 SKS	_@ <u>_/2~Z</u>	756 %
MEAS. LINE		SH	OE JOINT	POZMIX	405Ks	_@_ <u>{48</u>	256 3
CEMENT LEFT	IN CSG.			GEL _	4 545	_@_/b65	66
PERFS.				CHLORIDE _			
DISPLACEMEN	T			ASC			
	EQU	UIPMENT	•			@	
	_			-21	1/ 25#		50 %
PUMP TRUCK	CEMENT	TER 7	ERRY	- Flo- SEA	11 25	<u>@ 2 %</u>	
# 422	HELPER		JAYNE				
BULK TRUCK	TILDE DIV	<i>u</i>	<i></i>				
# 3'77	DRIVER	2	ONNE			_@	
BULK TRUCK						_@	
#	DRIVER			HANDI DIC	105 SKS	-@ <u>-190</u>	199 50
				HANDLING MILEAGE			425 25
	-			MILEAGE _	14 psk sk		10000
	RE	MARKS:	/			TOTAL	1135
35 sks	AT_	1825					
45 SKS	AT.	325			SERV	ICE	
10 Sks	AT	40				1825	,
15 5Ks	RAT B	20/5		DEPTH OF JO		1823	
				PUMP TRUC			<u>815 Z</u>
				EXTRA FOO		_ @	
				MILEAGE_			270 \$
			-4 - 11 X	MANIFOLD.			
			THANK Y	04		@	
CHARGE TO:	<i>A</i>			<u></u>		@	
CHARGE TO:	DAKK	HORSE	05/ 50, 4	120,			in an a
STREET			•			TOTAL	1085 %
SIREEI				*******			
CITY	S7	TATE	ZIP		PLUG & FLOA	т бошрме	VT
				45/ .			کھی سدد
				878 DI	ey Hole Plu		35 4
						@	
To Allied Ceme	nting Co.,	Inc.				@	
			menting equipm	ent —		@	
and furnish cem	nenter and	helper to	assist owner or			@	
contractor to do	work as i	s listed. T	he above work	was			مين مريد
done to satisfac						TOTAI	35 🐔
			d the "TERMS				

TOTAL CHARGE

CONDITIONS" listed on the reverse side.

RECEIVED
DEC 2 6 2007
KCC WICHITA

IF PAID IN 30 DAYS